201949 5 J|ZE YRFZH AEUS

[5$]:41]
A | AU A 49 R A A9 | 9949
A & 14H 733,850
05% 08 [&A 7] 2 F5t stet HE 50,000|ICC JEJU QIALR| 2 2 b 2 E 7t= =25
2 | 05% 08Y A 7|2 Z=EAt stet &S 100,000| 2t & ALE o b = E 7t= ==
3 | 05¥% 08Y (MF=HCHStw A g 2H ol 15,600|CH ZO| AL 2] 1¢l Helofy 7t= ag=x
4 | 052 08 |MF=HCH=tl &7 gt 2t o|E 20,750|CH ZO[AF 2| 12l HZITH = M FZHAMMAE 7t= Z2HE 3
05% 08¢ [MF=MCistm 47 g2 el ol 5,550|CHFZO[ AL 2] 12l HZIEH X MFAHHME 7t= =
05¢ 14 [SE7[Z Qe ¢A 7HE 3| 13,600|CHZEO|A} 2| 12l H7ZIE X M FZAMMA™ 7t= =l
05¢ 16 [Z2{2liccieju ZH&7|EX 23 o|g 59,650|CH 0| AL 2| 42l (=)ot} it ut 7t= =
05% 16 A2 2liccjeju 7H 27| E X 2 o|E 20,000|CH ZO[A} 2 42l AEEEA 7= =
058 17 [Z22liccjeju HE7|EN 2H 2@ 7HE3] 132,000|CH ZO[A} 2| 591 ZTYUSHXK| 7t= =
05% 17 [Z & 2liccjeju ZH&7[EX 23 22 AH 43,500|CH ZO|A} 2| 3¢l HMUSE2SH 7t= =
05¢ 18 [Z2{2liccieju ZHE7|1EX 2 2 2= 23,200|CH ZO[A} 2] 291 A2HHA HFZHHMEH 7t= =
05% 24 (A 72 o™ JHa =3t &tz 7¢ 50,000|M ==& MBS XAt H 2SI MEE 7t= =5
05% 29 A 7|2 =5t stet L& 100,000 A F2 2 SX| w3 LIRSS 7t= ==
05% 29 [2AI7| 2t A=At 2 xsteh S 100,000|M =23 2| ¥ 2 b 2 E 7t= ==




